= AH O
N = 0 & AF & E Al A
A FOIMET S
HH: HYASES MY X2
S 2O |ZMEEN (e dS)
_ _ boE ==
2N -3 - c2(3H) - NEME - HES Ol &F2H @;OH Hns
FOIMET 11,383,214 11,276,864 106,350
= 5,373,414
2 35,000
< 1,037,188
Al 4,937,612
HASS MEHY 1H 6,645,714 7,130,161 NAB4, 447
= 5,104,959
== 553,031
Al 087,724
20D | MBS 5,260, 187 5,824,796 /564,609
= 4,138,597
< 493,842
Al 627,748
I ZMEBEHAMOARASG 2Y 2,640 1,680 960
201 L Bt2HH| 840 1,680 A 840
01 AF22t2l ] 840 1,680 A 840
OJIZNEZEA|AG BHH4LY
70,000 * 6% * 23] 840
202 04 4| 1,800 0 1,800
01 2LHNbI 1,800 0 1,800
OJIZMBHE HIMFZX 1,800
HASEEZF0 HraiEs ot 15,001 15,001 0
307 2I2t0l & 15,001 15,001 0
06 282 15,001 15,001 0
OMASZF0 HHaiBEg =
7,0002 * 2,143H 15,001
MAZ N 3,962,602 4,370,000 N407,398
= 3,170,102
< 396,250
Al 396,250
301 YetgE A2 3,962,602 4,370,000 A407,398
= 3,170,102
[+ 396,250
Al 396,250
01 A B & X 45612 3,962,602 4,370,000 A407,398
OMAZ04(2,080) 3,962,602
=2 3,170,102
== 396,250
Al 396,250
FHZO 847,159 1,015,000 A 167,841
= 677,659
== 84,750
Al 84,750
301 et A= 747,159 915,000 A 167,841
= 597,659




SN FE0IMEX D
HE: HAS
chel: 2010

el
x
0
-
i
4o
fon
2
>
el
=
R
=i
0x
o
=
[
2
2
R
12
o
£l
0l%
IS

74,750
74,750

=

01 Al 2EH =063 747,159 915,000 A167,841
OFHEN (1,903g) 747,159

597,659
74,750
74,750

= H W

307 212+01 A 100,000 100,000 0
80,000
10,000
10,000

= H W

ENEX 100,000 100,000 0
O82=0 &E=2l(660t7) 100,000
80,000

10,000
10,000

= H W

M= =10 105,762 106,250 A488
84,512
6,375
14,875

= N W

301 22 a=s 105,762 106,250 N488
84,512
6,375
14,875

= Hn W

= 105,762 106,250 A488
(1804) 105,762

84,512
6,375
14,875

= HnH

HAE =N 31,543 30,000 1,543
25,293
1,875
4,375

= HnH

301 et as 31,543 30,000 1,543
25,293
1,875
4,375

= H W

01 A2l 2& A +dll= 31,543 30,000 1,543
Odi &t E XIS 04 (64Y) 31,543
25,293

1,875
4,375

= H W

>
0z
40
>
k-
Jn
Ol
>
o

100,000 100,000 0

307 212+01 A 100,000 100,000 0

01 A= =H] 100,000 100,000 0
d

?NASE FUAHLZEE = XN 100,000




SN FE0IMEX D
HE: HAS
[u}

Sl BOOIZMERE (69 &)
_ _ MNuE o
SN-EHH . SH(BH) - HPAY - BE2 O A+ 24 il i~ o Rz

RS HASSE g2l X 65,803 43,786 22,017
= 52,642
= 3,948
Al 9,213

301 YurR A3 65,803 43,786 22,017
=2 52,642
= 3,048
Al 9,213

01 AHEI B E X 253 65,803 43,786 22,017
OXt&rSl 2=erol X2 (3,000%) 65,803
=2 52,642
= 3,048
Al 9,213

RTHADAN ALAX X2 6,436 3,250 3,186
= 5,148
= 644
Al 644

307 212H0| & 6,436 3,250 3,186
= 5,148
= 644
Al 644

01 A2UPEY] 6,436 3,250 3,186
OSA220 £2AK AHF XV (108Z) 6,436
= 5,148
= 644
Al 644

JIZME BF 22 YDHAXR 123,241 139,829 ~16,568
= 123,241

301 YuHR A3 123,241 139,829 £ 16,588
= 123,241

01 AFEI B X 253 123,241 139,829 ~16,568
OJNE42T YR (6,821F) 123,241
=2 123,241

HAS MEx 2 1,385,527 1,305,365 80, 162
= 966,362
= 59, 189
Al 359,976

nEASZA 62,500 34,994 27,506
= 50,000
= 3,750
Al 8,750

301 YR A 62,500 34,994 27,506
=2 50,000
& 3,750
Al 8,750

01 AHSI 2B E 4612 62,500 34,994 27,506




A FEYE
NI HASE MSOLN X
=

fe=)
oSl HAS KXY (B9 &2

el
x
bl
2
i
=0
o
2
>
el
=
R
g
0x
I
2
[
2
=P
R
12
o
£l
0l%
IS

OXstASZH(20Y) 62,500
50,000
3,750
8,750

= MW

RPN S-—Full = Foape 209,562 256,016 AN46,454

146,694
62,868

= W

307 2I2tol & 209,562 256,016 A46,454

= 146,694
Al 62,868

10 At2I=X

22X 209,562 256,016 N46,454
OX S RH& &

Ml 2 (201A) 209,562

= 146,694
Al 62,868

o =
fon
I
Z

JbARZHE 22 =201 ALE 27,030 67,105 AN40,075

= 20,520
Al 6,510

307 21Ztol & 27,030 67,105 240,075

= 20,520
Al 6,510

27,030 67,105 240,075
SOl Xt ™ At 27,030

20,520
6,510

(]
o1
O
NP
>
N
0F 0
0L
HD
n
A

=

>
fl
r
tu

923,935 915,000 8,935
739,148
55,439
129,348

= HnH

101 o1 A4 H| 63,000 52,000 11,000
50,400
3,780
8,820

= H W

04 JIZMZ22XASE =+ 63,000 52,000 11,000
OXtgzz sX=<0/(6¥) 63,000
50,400

3,780
8,820

= H W

307 212+01 A 860,935 863,000 A 2,065
688,748

51,659
120,528

= H W

10 A2l S RIE2X 860,935 863,000 A2,065
OX&E22 ALY 860,935
688,748

51,659
120,528

= N W




2A: =0

gE
HH: HASES MEOY X
=

&t das HEXE CEREED
i, _ dEE =
SH-ZFH A AH) - MR A Aol '@E% =
si¥ssd N 12,500 31,250 A 18,750
= 10,000
Al 2,500
301 L2 A3 12,500 31,250 18,750
= 10,000
Al 2,500
01 Al 2 & E %=5ll= 12,500 31,250 218,750
O3YIIsS& K& (50t7) 12,500
= 10,000
Al 2,500
XSTEHE AlE 2el 150,000 0 150,000
401 Al HIL 20 150,000 0 150,000
01 A& 150,000 0 150,000
OXYXedEy 21298 3 150,000
DIMETRAMEIA MEHMA 2F 726,741 724,980 1,761
= 267,415
= 35,000
< 27,877
Al 396,449
AHNE ES 88,592 81,620 6,972
& 35,000
< 9,000
Al 44,592
Hedlt 75 12,120 12,120 0
201 L2 1,500 1,500 0
01 AtR2tel 1,500 1,500 0
ORd1 AFZA 21 1,500
301 LEHEA S 10,620 10,620 0
01 A2l 2& A +=0ll= 10,620 10,620 0
Odeilt+s sS4l 7,000& = 3041 » 123 2,520
OdeAX Aol 20,000& = 109 = 12& 2,400
OdATFS =EH 30,0002 * 109 1,200
OddX+= Il=4l 50,000& * 1 600
OAt2X ZHIbI 1,500
OAt2 XL O &I 1,500
OAZ R etxl2 30,000& * 3+ » 10 900
=M 3¢ 3,500 3,500 0
307 g12+0l ™ 3,500 3,500 0
10 AHRI S X2 X 3,500 3,500 0
OR=HMH =¥ 3,500
=Xt ESAE 2SR 51,000 51,000 0
& 35,000




S ORI
Hu: FpMBAMLIA HLHH 7S
Sl FHOINE 25 (25l &2
_ - HEE =
SA-BH.C(BH) - HRAY - B Off &F 04 il i~ o Rz
A 6,000
301 YurB A3 1,000 1,000 0
01 AEI 2 E X 253 1,000 1,000 0
OL=0l 2H A&
500,008 * 23] * 1H4 1,000
307 21201 & 50,000 50,000 0
= 35,000
Al 15,000
NEENEES 50,000 50,000 0
LaN BENE 2Y 50,000
= 35,000
Al 15,000
W ns 2el 3,972 5,000 A1,008
202 04t 972 2,000 A1,008
01 =2 A bl 972 2,000 21,028
OMHTE L= 972
307 21201 & 3,000 3,000 0
01 2 2L P2 3,000 3,000 0
OSZMol LaHIHE ASMHE X2
300,009 * 107+7 3,000
AP HASE X 18,000 10,000 8,000
= 9,000
Al 9,000
301 YR AS 18,000 10,000 8,000
= 9,000
Al 9,000
01 AEI B E X 253 18,000 10,000 8,000
ORYP HASE X 18,000
= 9,000
Al 9,000
ZOMBRRAAYA NBHAH 75 18,820 34,260 A 15,440
ZOMBRRMUI AR 29 15,760 23,000 A7,240
201 Yeregt| 1,400 5,000 3,600
01 At 22|t 1,400 5,000 3,600
OFQIMEXANYIA 222 HE
2502 * 3% + 1,2000H 900
OFOIMEXAMYIA ABHE MR HE
5,000 * 1002 500
202 04t 4,860 8,500 A3,640
01 2L 01 bl 4,860 8,500 3,640
OFUMET AN A HLE 4,860
203 &R E bl 8,000 8,000 0




SA FOIME XD}
M FOIMBXAAEA BLHH 2E
crel: FoIMETAMEIA NHH 25 (el &2
- _ _ HEE
SN ZHM . CA(SH) - HEAY - BAS Off Ak 04 0Ol At o8 B =

03 Al =& 2 F Y| 8,000 8,000 0
ONASS MEHEHM 8,000

301 et a3z 1,500 1,500 0

10 BAAIHI 243 1,500 1,500 0
OMEBZLIY FSOLIHD oHl24 1,500

Fg=Xsl2 2F 2 3,060 11,260 A8,200

201 Et2Ed| 3,060 3,060 0

02 Z==2gHl 3,060 3,060 0
OAN&E=Z RX2e 1,500

ORBYIAALY etz

130,000& = 12& 1,560

N2 SAL E4A 3 160,461 163,981 A 3,520
24,388
136,073

NS AHEH 29 X2 84,759 84,759 0

307 21Ztol & 84,759 84,759 0

10 At S X2 X 84,759 84,759 0
O XAZSAMEH 2% 84,759

N SALX S4 6,926 7,306 A 380

202 (44| 1,620 2,000 A 380

01 =2 A bl 1,620 2,000 A 380
ORHSA 243 A2EX 1,620

301 LetE A 5,306 5,306 0

10 HAAHIE A= 5,306 5,306 0
OXtAS AL Th3l ZIIX Of 2,274
ORFS AR 2tet3 L NS0 3,082

AESAF 2CUO0IH K& 35,036 34,016 1,020
= 17,518
Al 17,518

307 SI2H0| & 35,036 34,016 1,020
17,518
17,518

[OPNETE NS 35,036 34,016 1,020
OXEASAH 2CIHIOIE XI& 35,036
17,518
17,518

NESAA B2 X 13,740 13,900 A 160
= 6,870
Al 6,870

307 21Ztol & 13,740 13,900 A 160
= 6,870




SN FOIMET D
HE: FOIMBANLA HLHH 2
el XEE A 25t (el a2
SN -BH - S(B) - MRAY - BES Off &F o4 e HRE2
A 6.870
BNEENEES 13,740 13,900 A160
OXNHESAX 2EE K& 13,740
2 6.870
A 6.870
gael HEBAAY 10,000 2,000 A2,000
307 B12+01 & 10,000 2,000 £2,000
CEENEES 10,000 2,000 A2,000
OF4el MHAZAMY 10,000
N SMAEIAY 2% X2 10,000 2,000 A2,000
307 B12¢01 & 10,000 2,000 A2,000
10 AbSI =X 2 X 10,000 2,000 £2,000
OXZAE A2 X8 10,000
VEH SHAHIA RS 445,604 422,435 23,169
2 243,027
= 18,877
A 83,700
HASS Mgy X8 22,838 34,650 AT1,812
201 et | 3,950 7,650 £3,700
01 At 22lt] 3.950 7,650 £3,700
OARIZIRIA P8 MR 150
OFOINHIA SEeY 222 M
3,7508! * 400% 1,500
OAS=TAY S22 M
1002 + 6,0000H 600
OAlways 3l2Lts 22 1002 * 10,0005 1,000
Oslglis 2HQ =2 702 * 10,000% 700
202 01t 3,888 6,000 ~2,112
01 2h0i4] 3,888 6,000 £2,112
OXBE MUIAH YREZ 3,838
301 LerE A 15,000 15,000 0
IEEERTE 15,000 15,000 0
OMBI=XIAHIA XIS 15,000
AE= Bl SYN 45,000 40,000 5,000
= 9,000
A 36,000
307 B12¢0| & 45,000 40,000 5,000
= 9,000
A 36,000
10 AbSI =X 2 2 45,000 40,000 5,000
OMzl=TEs 29 45,000
= 9,000




SN FEOIMEX D
M ZOIMETAMNEA BLHH 2E
o9l RES SBNHIA JIBTE (S5l &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 il b o B2
| A 36,000
N AMEI =T EolH 29 31,680 54,410 £22,730
201 YEr2gy| 1,680 4,410 A2,730
01 AtR2t2IH] 1,680 4,410 A2,730
OXHAISI =X BolR Baag
70,0002 * 128 * 23] 1,680
307 212+01 & 30,000 50,000 £20,000
10 AHEI =X 2 X 30,000 50,000 20,000
OXNYAMSIZX BN 2 30,000
NEVEE R PR 3,192 3,192 0
301 BB AE 3,192 3,192 0
10 S AMALHI 2 A 2 3,192 3,192 0
LR ERE ST 1,120
OXNHER 5l &4 672
OMBIAGHI|IZ BAL &0 1,400
AZEX KA 115,412 115,412 0
= 92,330
= 4,616
Al 18,466
301 BB AE 115,412 115,412 0
= 92,330
= 4,616
Al 18,466
NE R 115,412 115,412 0
ORAZEX MR A 115,412
= 92,330
= 4,616
Al 18,466
KA ASIHEIA STAMS 131,520 89,845 41,675
= 105,216
= 5,261
Al 21,043
201 YEr2gy| 1,520 0 1,520
= 1,216
= 61
Al 243
01 AtR 22|t 1,520 0 1,520
OXNHMSINEIASETAIY 222 HA 1,520
= 1,216
= 61
Al 243
307 21201 & 130,000 89,845 40, 185
= 104,000
= 5,200

|
©
|




M FOIMBXAD
B ZOMBUAMYIA ALK 2
ool 2EE SEAHIA JUTE (el a9
_ _ _ N E
SA-E . S(E) - MEAY - BES 01l &4 24 e HIRE
Al 20,800
05 BIZ2tR &= 130,000 89,845 40,155
OaZOIE HAUA £ Ao 40,000
= 32,000
< 1,600
Al 6,400
O0S QXSS S AL 45,000
= 36,000
= 1,800
Al 7,200
OZZLESSAE AL 45,000
= 36,000
S 1,800
Al 7,200
KA =XHE K& 5,000 5,000 0
201 24 5,000 5,000 0
03 A2 & 5,000 5,000 0
020128 X A2I=SXH 2l 5,000
QIMotE =& 78,362 71,460 6,902
= 39,181
Al 39,181
101 21 24| 78,362 71,460 6,902
= 39,181
Al 39,181
04 JIZtH22 S ES 78,362 71,460 6,902
OMIIEXNSEMUEIATM2RS 2124H|(3Y) 78,362
= 39,181
Al 39,181
Atcll2tel At 23l 12,600 8,466 4,134
= 6,300
Al 6,300
201 L2 5,040 8,466 N3,426
= 2,520
Al 2,520
01 At 22l 5,040 8,466 N3,426
OMRINE 2 5,040
= 2,520
Al 2,520
301 LB as 7,560 0 7,560
= 3,780
Al 3,780
01 MBI 2E & =63 7,560 0 7,560
O=SAAHIA X3 7,560
= 3,780
Al 3,780




S EOIMETRD
Ha: FOMBIAMNEIA LA 2=
Sl ZAERO M2 (B9 &)
_ _ _ N E
SA-EHB . CA(ENH) - HEAY - BE2 O A+ 24 Gil it o Rz
EARe Mes 13,264 22,684 A9,420
SNHAK Y2 SSXA 12,344 20,684 8,340
201 L2 Y| 4,844 9,684 A4,840
01 ALR eIt 2,000 6,000 A4,000
OSEZAAHIA 222 R
1,0008 * 1,000 1,000
osgxz B2 YT
1,0002 * 1,00004 1,000
02 ZZ2H| 2,844 3,684 840
OS8ZANY PEE 600,0002 * 1l 600
OSETAREY HSIHA| 84,0002 * 13 84
OSHEATZ R20 180,0002 * 122 2,160
202 01t 2,500 6,000 3,500
01 =L 01 bl 2,500 6,000 3,500
ocTZ 2 A g 1,500
ORYOALT MBAEH X EA 1,000
301 LB A 5,000 5,000 0
01 AEI B X253 5,000 5,000 0
OCTHSAE AT SE7Y
10,0008 * 5007+ 7 5,000
=Nags 2gBe 920 2,000 A1,080
201 LEr2 Y| 920 2,000 A1,080
01 ALR 2l 920 2,000 A1,080
oaga AWM 10,0008 * 23] 200
OgSX MUS G2 60,0008 + 128 720
AFBI=T Ol8 4 293,766 308,940 A15,174
= 58,753
Al 235,013
NABI= T Ol 2= 293,766 308,940 ~15,174
= 58,753
Al 235,013
MEIZTME 23 10,560 10,560 0
= 2,112
Al 8,448
201 L2 Y| 10,560 10,560 0
= 2,112
Al 8,448
01 ALR 2l 10,560 10,560 0
OLANEZRE 2 (176F) 10,560
= 2,112
Al 8,448
CHRHADIS SEX 283,206 296,380 A13,174

_11_




A FRIMEX A

& AZ =X 0le =4
&2l XLASI =X I8 25 (A :H2)
B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+
& 56,641
Al 226,565
301 etz azd 283,206 296,380 A13,174
& 56,641
Al 226,565
01 At 2E " =dll3 283,206 296,380 A13,174
OB=SAlE DloIg20ts 2s+2(153Y) 180, 156
& 36,031
Al 144,125
ONssW gz 2 4s2(65Y) 63,050
= 12,610
Al 50,440
Oousts=2(40d) 40,000
= 8,000
Al 32,000
=Jt2=2c ¥ XA 163,422 163, 150 272
& 100
Al 163,322
SINREAN =XNSH 163,422 163, 150 272
& 100
Al 163,322
RSN f2 9,972 11,000 AN 1,028
201 LBr2gH| 3,000 3,000 0
02 E=2gHl 3,000 3,000 0
OE=2AME=E RX2el 3,000
202 oddl 972 2,000 A 1,028
01 SLHA b 972 2,000 21,028
oEsYe 23 972
301 LB A= 6,000 6,000 0
01 AR EEE 0l 3 6,000 6,000 0
OZNs3sXkt f=2 50,000& * 60 * 23| 6,000
=Y A 10,900 11,100 A 200
201 Ler24g| 4,700 3,700 1,000
01 AtR2tel bl 500 700 A 200
Os= B89 € g2 &
100,000& * 1& = 504 500
03 A2 4,200 3,000 1,200
Os=g A 23 2 3,000
O8=d AL &0 «40 XA 700
Oz &AL &0 &2 XA 500
307 2120 & 6,200 6,200 0
10 At =X X 6,200 6,200 0

_12_




SN

el

=
=
MNIH: 2
o Tt -/
fm
=

_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
Oesg M =IIEF € I 24 K&
7,000& = 600 4,200
O M MEW 2,000
SERSNL 5= 2=H A& 500 500 0
< 100
Al 400
307 21Ztol ™ 500 500 0
& 100
Al 400
10 At S X2 X 500 500 0
O=8=3A == 224l N& 500
= 100
Al 400
SERIA K& 142,050 140,550 1,500
301 et a3 142,050 140,550 1,500
01 Al EEH £=0dl= 142,050 140,550 1,500
OFEEKRSA B¢
30,000& » 380 » 123 136,800
OEERSA AY RIZ23 150,000& * 354 5,250
Ol XIS WKIEH 5 2,861,114 2,804,219 56,895
< 391,427
Al 2,469,687
SEMNEH 2,861,114 2,804,219 56,895
& 391,427
Al 2,469,687
WESHIHA 2,601,114 2,462,369 138,745
= 391,427
Al 2,209,687
201 gEt24Ed| 2,340 5,200 A 2,860
01 AtR2telH] 2,340 5,200 N2,860
ORSAH| 4o/ FALY
70,0008 * 11H = 23 1,540
OAMAH n=EXad 222 M
80& * 5,00004 * 23 800
202 O4H| 2,430 3,000 A570
01 =2 AbI 2,430 3,000 A570
Ou=sgZdAg g8 =8 2,430
301 et al= 196,000 251,562 AbB5,562
02 ¥st=2eti= 196,000 251,562 A55,562
OANMIEHOIA NEXJH (=SEA)
300,000& = 100 30,000
OMMAEHOIA nEXIJE(S5HA)
00,000& * 50 10,000

_13_




S FUMEI D
M QWX DIIY 2
chel: BEQITHS S (el @@
- _ _ HEE
SN EHHEA(EA) - MRAY - BES Off AF o 0 At of HmE2
OATMIHAOIA DR A (DS5HA)
1,200,0008 * 130% 156,000
307 212+0 & 27,600 27,600 0
05 RI2t9IEr3 27,600 27,600 0
OXS AOIHAZ 29Hl 2,300,008 * 122 27,600
308 XiXICHAI S OI & 2,372,744 2,175,007 197,737
[ 391,427
Al 1,981,317
05 REXIEHAI 2 2 & 2 119,888 125,007 A5,119
O2012 oA X2 FE3(7Y) 88,888
Ol A2 Faty 2243(2Y) 21,000
OZ DS D& 2454 FatT X2 (2Y) 10,000
06 RDEIIZOUEBEEZ 2,252,856 2,050,000 202,856
Ostn WssH A X 1,100,000
Ozsty ystz KA (200%) 20,000
OB %I AL DSE W JIsA AYX 350,000
OR&SAXE 693,952
S 346,976
Al 346,976
Ozlgd AT X 88,904
-3 44,451
Al 44,453
EHEAID SERSS| =0 260,000 260,000 0
306 2012 260,000 260,000 0
01893 260,000 260,000 0
O4+Zstd Is3a X2 (30) 60,000
OXNSHUE RS SHFEZ(400%) 200,000
BMSSTN RS 29,470 44,680 ~15,210
TMDSI|P S 29,470 44,680 A15,210
MBS TA X4 19,470 34,680 A15,210
201 Yer2 | 2,040 7,680 A5,640
01 AtRZ2IH| 2,040 7,680 15,640
OBAsIEEos Haay
70,0008 * 12 « 13 840
OZMels 292 M
1202 » 2% » 5,0002 1,200
202 o4l 3,930 7,000 A3,070
01 2401l 3,930 7,000 A3,070
OBMSIEIR dRFT 8,930
307 2I2+0 & 13,500 20,000 26,500
02 QIZHAAEE 13,500 20,000 16,500

_14_




M =olME 2 0t
MB: BASSHE 7S
Erel HAMDSI|H 2 (er9: @@
B . M. CHe (5 NEAS . T2 Al OH HEE Hl =2+
OEMEtE 2 X2 ) & 5502 X
1,500,000 * 9JH Xl 13,500
HolZolus KA 10,000 10,000 0
307 S12H0| & 10,000 10,000 0
02 QP AE X 10,000 10,000 0
Odolzaius XA 10,000,000& = 1JH4 10,000
AlE - M 2e| 64,841 48,626 16,215
= 1,040
& 6,000
Al 57,801
AE - BS A2 64,841 48,626 16,215
= 1,040
& 6,000
Al 57,801
SAZSIHEAS 39,980 24,230 15,750
301 LEIE A= 39,980 24,230 15,750
12 J|Et2 43 39,980 24,230 15,750
ORE ¥ wijelgs +ER 2
20,0003 = 654 = 128 15,600
O2Y & 9ijelds MY 3§
850& » 100H * 65JHA * 123 6,630
OdgA HXIE AX 100,000& * 1094 1,000
O2gda st&Ea HozgE KA
50,000& * 12502 * 13 6,250
OMs&s 25 HOYES K&
30,000& * 10090 2 3,000
OHeSA M) ZEIY U M| X2
5003 = 50 * 28 = 15000 A& 7,500
Al ZOotM 22| 16,781 17,156 A375
101 2124yl 5,637 1,760 3,877
04 JI2HHZ22NHSES 5,637 1,760 3,877
ORIEHAE PLHE 21244| 5,637
SPIEt= 36,6403 * 198 * 120 4,397
oxELY 36,6402 « 12 » 242 880
o ZtAlH| 3,000& » 1H = 120 360
201 B2 HH| 1,100 1,500 2400
01 At 2teltl 1,100 1,500 A400
OalZotdate 22 ME  3,500& * 20004 700
OAZE SR L SAHAMIIER oY
2,000& = 20004 400
202 44| 4,344 6,196 A 1,852
01 SLHA b 4,344 6,196 A 1,852
OBE - AEM 22=T 1,944
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FOMETRY
HHSHAY| (FUMEXRD
Jl=&H| eEH)
S U (BH) - NRAY - B Aol e =2
OoRER= 350,000& * 12& 4,200
202 04 4| 1,760 3,360 21,600
01 SLHA b 1,760 3,360 A 1,600
Otla2% 1,760
203 R =& 4,200 4,200 0
04 2M29g 4,200 4,200 0
OFAM2 350,000& = 12& 4,200
S(FUMETX 564,838 0 564,838
HEHH K= 564,838 0 564,838
HEHHKIE 564,838 0 564,838
701 JIEFSI A A 564,838 0 564,838
01 JIEtSIAHIA 564,838 0 564,838
ogze 564,838
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